TR K02 17"7 'O R0 22 .70

He should bring the cursed one to court — 397 n92% 771K RO

OVERVIEW

The R 13 cites the view of 2XW X2X who interprets the words of 7¥ 11X°2°, to mean
that he should bring the 7%°21 to 7"2. There are however different readings of the
text as to how 7Xw XaR referred to this 717°21. According to Mo0In he referred to it
as an 7MX. This m»doIn will explain why; as well as mentioning other NIRD7.
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The explanation of the word 777X is that the animal died without a 71293. It was
not slaughtered properly [with a 7572], but rather it was killed without a 71573, therefore the 79°21
is referred to as mﬁx;l the cursed one.

mooin offers an additional reading:
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And by some the text reads 7917¥ (absent) as in the 705 ‘(even) one of them was
not absent’. We refer to the killed animal as being absent (from the herd).

mooIn offers s""wA reading:
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And by >"wn the text reads 777Y (plunder) as in the 7¥ %28 09 (he will
consume the plunder). This animal was plundered (by the other ox).

SUMMARY
The 719721 is referred to as 7717Y ,771X or 77V,

THINKING IT OVER
What are the relative advantages and drawbacks of these three Nx07°1?

! See n"m1 that 2w Xax also interprets the word 7v as ‘plunder’; he refers to it a 771K to make it clear that we are
referring to the 177°21 which is an 7717K.
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